JO2M.2 - Slingshot Orbit

Problem

A space probe is launched from Earth into s transter orbit whose mecdomm radins b is slightly
larger than the distance from the Sun to Mare. The launch time is such that when the probse
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You may male the approximetions that the orbits of Barth snd Mars are civeular with radii @ and
b, respectively, that the masses of Earth amd BMars do not affect the transfer orbit between the
two planers, that the mass of the Earth and Sun can be ignored during the near eollision between
the probe and Mars, and that the masses of Farch and Mars can again he ignored after the near
cedlision. You oy wlsc 1L i r'4||||[:|:|| ation that the distanee of olosest .-I|'||IT|I.'||'._'| nieeded for
Mlars to detlect the probe by 1807 35 less than its radius,
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